NAZX—/)\—mR—)L

NAZa1—X—/)\—R—)L

1))

3



NAR=—/\—FK—IJV

EHRA (EWE) #EE >

L-560B (&% :65103) . . M-570 (&% :65110)
i * vy Tt
g ] i
g L
i S B .
L [N g ®
g | g i <
E _ § ]
_ || ==
o
d N\ == é 2 =
8 8 §I HREER
= WEEFR - g
sl | o N
, 3 GL &
N o [s]
N N ) g
JAY
| (EHR - BEBHKIL b27A  RI55) (B4R - BIBHKIL h20AK RS
O
R
| ZHHOBR
b B % B E 2Em) | BHs iz
HiE (9) HRE (mm) | K& (mm) HE (kg)
FE1E 193 3.2 5400 86.7
L-560B 65103 17.4 o 216.3 45 6500 160 3RDE
3 216.3 8 6400 276
B8 193 3.2 5400 86.7
M-570 65110 14.2 E-pl] 216.3 45 6500 160 3ARDE
53 216.3 6 3200 104

30



NAR=/N=—7FK=—J

EHRA (EWE) #EHE B

SS-400 (%% :65170) (BELH)
* vy 7t
S-610 (5% : 65120) ST SS-670 (&% :65180) (BLH)
* vy Tt
* vy 7t 2 —
-
2 - [y 8l 8 =
L = ¥ m £
S Y
™ == < —d = <
P
_ ]
[\ | ~ _
HIFRFRIR § — BTN
§ GL © L 153
§ \ BhE ($hE) § A
EX vy 7 NEX vy 7t Z
(EHR - BHARI M5EK  FlI5E (BHARI M1OEK  RIFE) (BIZARIL M2 FlIFE) /I\°
EEWH OB |
B % & B 2Em) | s % b
SHE (¢) WE (mm) | K& (mm) =8 (kg)
E1E 193 3.2 5400 86.7 .
S-610 65120 115 = 2K
o 216.3 45 6500 160
FE1E 193 2.8 3500 492
$S-400 65170 9.7 o 193 2.8 3500 49.2 3K
53 193 238 3500 49.2
11 193 238 3500 49.2 )
$S-670 65180 6.6 = 2ARDK
o 193 2.8 3500 49.2

31



NAZ 1 —X—=/\—=7F=)b

EHRA (EWE) #EE >

HK-18(C7) (&% : 65201) HK-15(C7) (&% : 65211)
L
! *v v 7ft
i = - z
. = .
3 i g
g & g
: g pagrE ¢ .
3 o 3 2
=] g § o b Q
HAKTE S S . 8 2
g L g 8
g 3 g sl |
‘ 4T
S P
NEE 3 § o
. . i g .
S )
_ LS WRER S i -1t g GL A
£ 3| GL GL & g 3 -
A ) v ol® o
3% g5 3 gl 8
ol H 3 o 2 « I g Q| =
i € g <« £ .
g 1524 (E7L) u:éi 15X24 (RFl)
N ] ¥ i v_ v
gl HEET T 4 e
(&R - Bi5HRIL h26K  Fl5E) (EAR - BIBAIL MeK  FlFE)
EBFFD H FEE RA BE KRODHE | TOADHE | HEEDOHE
=] =]
& & & & & (m) R (m) (m) (kg) (¢) () ()
NK
) [/ HK-18 (C7) 65201 17.59 N1~8 14.94 2.65 398.5 165.2 4425 397.9
NK
HK-15 (C7) 65211 11.86 N1~5 9.76 2.1 198.2 165.2 350 312.2

32



wiino, BHOES W8 | KOSE XONE | EE | EEELE
a ' (m) (mm) (9) (9) (kg) (mm)
NK 1.3 3.3 165.2 173.4 15.6 i
N1 2.5 2 162 209.2 23.8
330
N2 2.5 198.9 246.1 28.6 .
N3 2.5 2.1 234.9 282.1 34.9 i
N4 2.5 2.3 269.5 316.7 43.3 e
N5 2.5 2.5 302.8 350 52.5 =1
N6 2.5 2.6 334.8 382 59.9 6
N7 2.5 2.7 365.6 412.9 67.6 5
N8 2.5 2.7 395.3 442 .5 72.8
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